
 LES REVEILS DE L'OUVREUR 
 

1) 
  AD863 
  D4 
  RV62 
  R10 
 

 
Sud Ouest Nord Est 
1 2 Passe Passe 
 ? 

2) 
  4 
  AV106 
  AD65 
  D1074 
 

 
Sud Ouest Nord Est 
1 1 Passe Passe 
 ? 

3) 
  82 
  RD6 
  AV105 
  RV103 
 

 
Sud Ouest Nord Est 
1 1 Passe Passe 
 ? 

4) 
  RDV74 
  RD987 
  — 
  865 
 

 
Sud Ouest Nord Est 
1 2 Passe Passe 
 ? 

5) 
  2 
  A83 
  RDV872 
  D64 
 

 
Sud Ouest Nord Est 
1 1 Passe Passe 
 ? 

6) 
  R86 
  A84 
  RD 
  D8743 
 

 
Sud Ouest Nord Est 
1 1 Passe Passe 
 ? 

7) 
  AD82 
  R3 
  A106 
  AD74 
 

 
Sud Ouest Nord Est 
1 1 Passe Passe 
 ? 

8) 
  ARV4 
  963 
  AD9 
  AV3 
 

 
Sud Ouest Nord Est 
1 1 Passe Passe 
 ? 

 
 


